Before using this product, please carefully read the iInstructions to understand the bracket size
In order to adapt to your Solar panel installation. Simultaneously able to safely and correctly
use this bracket product In different iInstallation environments

—

-
Ol | | [
Pan head cross screw Hexagon Socket Head Cap Screws

—/
Inclin Angle Bracket(X?2) Angle bar (X2) Crossbeam (X1) Clamp (X4) U Hook (X2) U Bolt (X2) M6*%45 (X8) M8*45 (X4)
>
A R N E » G M3 2%%()[1) T
© © € s>—c e
Flat washer Flat washer Spring washer Expansion screws 10*60 :ﬁﬁ/’////}@/g
06 (X16) 08 (X1) ()8 (X5) Hex & Open end Wrench(X1) Nut M6(X8)  Nut M8 (X1) glggge §elf—tapping SCrews = ! |
*60(x4 ¢ o o 7
Solar Panel Control |

J K L M N O P osg:f ggﬁipped AT Ogeﬁ)‘ egtrjipped AT

Q0

Specifications : fomn Assembling :

)
!

b

According to actual needs,
install uniformly according to the number of support pipes and tighten the screws.

At the same time, keep accessory D loose, with a size of = 35mm




Balcony Mount NO. 3

/// @ll
g O Tl L
AN 1
/ | B
/ @
/ — |
|
/
|
| e <
® \ | g
: L KL
Before installing the hook, Install the hook screws and crossbars and Lock the upper and lower pressure blocks and
remove the hook screws and then install the secure thenm. screws,when installing Solar panels
hook to the bracket Simultaneously Installing Inverters %
Wall Mount NO. 2

NO. 1

=8
. S E———
@ﬁw 3 —
L

According to the size of th lar panel = o _ Install the bottom clamps to the structure for
uggoadIegelOrulgrStoemgke 4eh§(|)eg W?%he ’ Drill holes on the wall and then drill in expansion bolts holding the module

a diameter of 10mm and a depth of 70mm on the wall to Tix the whole mount on the wall




